CITY OF	VENT	BIDDER	'C	Ouiga Bros Inc		2 SCI Infrastructur	70. LLC	3 Macro-Z-Technol	ogy	4 Scarsella Bros., I	nc
	T NAME: Boeing Secondary Levee and Floodwall	NAME A		Quigg Bros., Inc PO Box 1707	•	2825 S. 154th St		841 E. Washingto		PO Box 68697	110.
	ENING: July 10, 2012	ADDRES		Aberdeen, WA	08520-0281	Seattle, WA 981		Santa Ana, CA 9		Seattle, WA 981	68-0697
,, D OI'L		ADDINES	,,,	ADDITION OF THE	.0020 0201	Journe, WA 701		Janua Ana, CA 7	2,01	Southe, WA 701	00 0077
		TOTAL			\$2,655,566.63		\$2,819,143.21		\$2,827,340.09		\$2,854,674.86
TEM					TOTAL		TOTAL		TOTAL		TOTA
10.	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUN [*]
CHED	ULE I: LEVEE										
1000		1	LS	\$230,000.00	\$230,000.00	\$100,000.00	\$100,000.00	\$200,000.00	\$200,000.00	\$260,000.00	\$260,000.00
1005	Clearing and Grubbing	1	LS	\$15,000.00	\$15,000.00	\$18,000.00	\$18,000.00	\$10,000.00	\$10,000.00	\$7,000.00	\$7,000.00
1006	Remove Existing Irrigation	1	LS	\$2,000.00	\$2,000.00	\$900.00	\$900.00	\$10,000.00	\$10,000.00	\$1,500.00	\$1,500.00
1007	Remove Giant Sandbags	30	EA	\$150.00	\$4,500.00	\$45.00	\$1,350.00	\$22.00	\$660.00	\$30.00	\$900.00
1010	Remove Existing Asphalt Concrete Pavement	2,500	SY	\$5.00	\$12,500.00	\$5.00	\$12,500.00	\$11.25	\$28,125.00	\$3.50	\$8,750.00
1020	Remove and Reinstall Concrete Wheel Stops	40	EA	\$100.00	\$4,000.00	\$100.00	\$4,000.00	\$130.00	\$5,200.00	\$50.00	\$2,000.00
1025	Wheel Stop for Parking Stalls	10	EA	\$100.00	\$1,000.00	\$100.00	\$1,000.00	\$158.00	\$1,580.00	\$95.00	\$950.00
1030	Remove Cement Concrete Extruded Curb	470	LF	\$3.00	\$1,410.00	\$3.00	\$1,410.00	\$3.00	\$1,410.00	\$1.50	\$705.00
1035	Removal of Traffic Islands and/or Traffic Curb	1	LS	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00	\$10,000.00	\$10,000.00	\$1,000.00	\$1,000.00
1040	Removal of Raised Pavement Markers and/or Thermoplastic	1	LS	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00	\$1,850.00	\$1,850.00
1045	Removal of Traffic Signs	1	LS	\$2,000.00	\$2,000.00	\$750.00	\$750.00	\$5,000.00	\$5,000.00	\$1.00	\$1.00
1050	Saw Cut Existing Asphalt Concrete Pavement	230	LF	\$5.00	\$1,150.00	\$4.00	\$920.00	\$3.40	\$782.00	\$4.00	\$920.00
1055	Remove and Reinstall Park Sign with New Foundation	1	LS	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00	\$7,500.00	\$7,500.00	\$500.00	\$500.00
1060	Roadway Excavation Including Haul	800	CY	\$20.00	\$16,000.00	\$10.00	\$8,000.00	\$7.00	\$5,600.00	\$9.60	\$7,680.00
1065	Unsuitable Foundation Excavation Including Haul	600	CY	\$25.00	\$15,000.00	\$10.00	\$6,000.00	\$30.00	\$18,000.00	\$16.00	\$9,600.00
1075	Gravel Borrow, Including Haul and Compaction	14,060	TON	\$13.00	\$182,780.00	\$14.00	\$196,840.00	\$23.00	\$323,380.00	\$13.65	\$191,919.00
1076	Gravel Borrow for Levee Embankment, Including Haul	1,600	TON	\$17.00	\$27,200.00	\$15.00	\$24,000.00	\$25.00	\$40,000.00	\$13.65	\$21,840.00
1080	Crushed Surfacing, Top Course 5/8" Minus	1,015	TON	\$24.00	\$24,360.00	\$16.00	\$16,240.00	\$28.00	\$28,420.00	\$22.10	\$22,431.50
1085	Crushed Surfacing, Base Course 1-1/4" Minus	1,100	TON	\$24.00	\$26,400.00	\$16.00	\$17,600.00	\$26.00	\$28,600.00	\$22.10	\$24,310.00
1095	HMA Class 1/2", PG 64-22	900	TON	\$85.00	\$76,500.00	\$85.00	\$76,500.00	\$105.00	\$94,500.00	\$80.70	\$72,630.00
1096	Inspection Trench	220	LF	\$10.00	\$2,200.00	\$7.00	\$1,540.00	\$17.00	\$3,740.00	\$16.00	\$3,520.00
1100	Portable Toilets	1	LS	\$1,500.00	\$1,500.00	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00	\$5,500.00	\$5,500.00
1125	Cold Plant Mix for Temporary Pavement Patch	100	TON	\$150.00	\$15,000.00	\$75.00	\$7,500.00	\$190.00	\$19,000.00	\$100.00	\$10,000.00
1210	Embedded Reinforced Cement Concrete Curb for Islands	300	LF	\$20.00	\$6,000.00	\$25.00	\$7,500.00	\$14.00	\$4,200.00	\$35.00	\$10,500.00
1215	Embedded Reinforced Cement Concrete Traffic Curb	300	LF	\$25.00	\$7,500.00	\$25.00	\$7,500.00	\$16.00	\$4,800.00	\$35.00	\$10,500.00
1216		1	LS	\$1,000.00	\$1,000.00	\$3,500.00	\$3,500.00	\$6,200.00	\$6,200.00	\$2,500.00	\$2,500.00
1270	Temporary Chain Link Fencing	2,300	LF	\$3.00	\$6,900.00	\$3.75	\$8,625.00	\$4.00	\$9,200.00	\$2.00	\$4,600.00
1275	Temporary Secure Fencing	350	LF	\$5.00	\$1,750.00	\$4.00	\$1,400.00	\$5.75	\$2,012.50	\$20.00	\$7,000.00
1290	Remove and Restore Fixed or Removable Bollard	8	EA	\$600.00	\$4,800.00	\$500.00	\$4,000.00	\$615.00	\$4,920.00	\$500.00	\$4,000.00
1295	Handrail	260	LF	\$120.00	\$31,200.00	\$125.00	\$32,500.00	\$125.00	\$32,500.00	\$103.50	\$26,910.00
1300	PVC Conduits	1	PS	\$7,500.00	\$7,500.00	\$4,000.00	\$4,000.00	\$3,700.00	\$3,700.00	\$1,200.00	\$1,200.00
	Pothole Utilities	4	EA	\$750.00	\$3,000.00	\$300.00	\$1,200.00	\$800.00	\$3,200.00	\$500.00	\$2,000.00
	Project Sign	1	EA	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$2,300.00	\$2,300.00	\$300.00	\$300.00
	Quarry Spalls	1,700	TON	\$20.00	\$34,000.00	\$37.00	\$62,900.00	\$28.00	\$47,600.00	\$28.50	\$48,450.00
	Geotextile Fabric, Non-Woven	2,600	SY	\$2.00	\$5,200.00	\$1.70	\$4,420.00	\$4.50	\$11,700.00	\$1.50	\$3,900.00
	Minor Changes	1	CALC	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
	SCHEDULE I SUBTO	ΓAL		,	\$789,350.00		\$655,095.00	,	\$993,829.50		\$787,366.50
	9.5% WA State Sales				\$74,988.25		\$62,234.03		\$94,413.80		\$74,799.82

		1	2	3	4
CITY OF KENT	BIDDER'S	Quigg Bros., Inc.	SCI Infrastructure, LLC	Macro-Z-Technology	Scarsella Bros., Inc.
PROJECT NAME: Boeing Secondary Levee and Floodwall	NAME AND	PO Box 1707	2825 S. 154th St.	841 E. Washington Ave.	PO Box 68697
BID OPENING: July 10, 2012	ADDRESS	Aberdeen, WA 98520-0281	Seattle, WA 98188	Santa Ana, CA 92701	Seattle, WA 98168-0697
	TOTAL	\$2,655,566.63	\$2,819,143.21	\$2,827,340.09	\$2,854,674.86
ITEM		TOTAL	TOTAL	TOTAL	TOTAL
NO. DESCRIPTION	QTY UNIT	UNIT PRICE AMOUNT	UNIT PRICE AMOUNT	UNIT PRICE AMOUNT	UNIT PRICE AMOUNT
	TOTAL	\$864,338.25	\$717,329.03	\$1,088,243.30	\$862,166.32

				1		2		3		4	
CITY OF	KENT	BIDDER	'S	Quigg Bros., Inc.		SCI Infrastructu	re, LLC	Macro-Z-Techno	logy	Scarsella Bros.,	Inc.
PROJEC [*]	Γ NAME: Boeing Secondary Levee and Floodwall	NAME A	ND	PO Box 1707		2825 S. 154th S	it.	841 E. Washing	ton Ave.	PO Box 68697	
BID OPE	NING: July 10, 2012	ADDRES	SS	Aberdeen, WA 9	8520-0281	Seattle, WA 987	188	Santa Ana, CA	92701	Seattle, WA 98168-0697	
		TOTAL			\$2,655,566.63		\$2,819,143.21		\$2,827,340.09		\$2,854,674.86
ITEM					TOTAL		TOTAL		TOTAL		TOTAL
NO.	DESCRIPTION	QTY	UNII	UNIT PRICE	AMOUNI	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
SCHED	JLE V: TRAFFIC CONTROL										
5005	Traffic Control Labor	200	HR	\$45.00	\$9,000.00	\$42.50	\$8,500.00	\$50.00	\$10,000.00	\$50.00	\$10,000.00
5010	Construction Signs, Class A	100	SF	\$15.00	\$1,500.00	\$15.00	\$1,500.00	\$6.00	\$600.00	\$15.00	\$1,500.00
5015	Traffic Control Supervisor	200	HR	\$65.00	\$13,000.00	\$65.00	\$13,000.00	\$55.00	\$11,000.00	\$60.00	\$12,000.00
5020	Temporary Traffic Control Devices	1	LS	\$1,000.00	\$1,000.00	\$3,000.00	\$3,000.00	\$800.00	\$800.00	\$500.00	\$500.00
5030	Portable Changeable Message Sign (PCMS)	10	DAY	\$200.00	\$2,000.00	\$100.00	\$1,000.00	\$170.00	\$1,700.00	\$125.00	\$1,250.00
5060	Type III Barricade	6	EA	\$1,000.00	\$6,000.00	\$300.00	\$1,800.00	\$125.00	\$750.00	\$250.00	\$1,500.00
5100	Permanent Parking Lot Channelization	1	LS	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00	\$23,000.00	\$23,000.00	\$4,735.00	\$4,735.00
	SCHEDULE V SUBTOTA	L.			\$37,500.00		\$32,800.00		\$47,850.00		\$31,485.00
	9.5% WA State Sales Ta	X			\$3,562.50		\$3,116.00		\$4,545.75		\$2,991.08
	TOTA	\L			\$41,062.50		\$35,916.00		\$52,395.75		\$34,476.08
SCHEDI	JLE VI: STRUCTURAL										
6000	Shoring or Extra Excavation, Class A	1	LS	\$10,000.00	\$10,000.00	\$7,000.00	\$7,000.00	\$5,600.00	\$5,600.00	\$15,000.00	\$15,000.00
6010	Structure Excavation Class A, Including Haul	1,200	CY	\$20.00	\$24,000.00	\$20.00	\$24,000.00	\$9.25	\$11,100.00	\$16.00	\$19,200.00
6020	Sheet Piling - Wall Type A (AZ38-700N)	4,000	SF	\$40.00	\$160,000.00	\$34.50	\$138,000.00	\$36.00	\$144,000.00	\$32.00	\$128,000.00
6120	Sheet Piling - Wall Type B (AZ38-700N)	1,500	SF	\$40.00	\$60,000.00	\$34.50	\$51,750.00	\$36.00	\$54,000.00	\$32.00	\$48,000.00
6220	Sheet Piling - Wall Type B (AZ24-700N)	17,500	SF	\$30.00	\$525,000.00	\$25.85	\$452,375.00	\$27.00	\$472,500.00	\$30.00	\$525,000.00
6140	Sheet Piling - Wall Type C (AZ12-770)	500	SF	\$27.00	\$13,500.00	\$20.00	\$10,000.00	\$22.50	\$11,250.00	\$31.00	\$15,500.00
6360	Conc. Class 4000 for Retaining Wall and Floodwall	700	CY	\$325.00	\$227,500.00	\$900.00	\$630,000.00	\$555.00	\$388,500.00	\$575.00	\$402,500.00
6361	Architectural Finish for Retaining Wall and Floodwall	12,000	SF	\$23.00	\$276,000.00	\$20.00	\$240,000.00	\$13.50	\$162,000.00	\$28.75	\$345,000.00
6380	Structural Reinforcement Bar for Retaing Wall and Floodwall	50,000	LB	\$1.50	\$75,000.00	\$1.65	\$82,500.00	\$1.00	\$50,000.00	\$1.60	\$80,000.00
6395	Concrete Mow Strip	530	LF	\$15.00	\$7,950.00	\$10.00	\$5,300.00	\$6.00	\$3,180.00	\$21.00	\$11,130.00
6400	Scour Protection Slab	5,000	SF	\$4.00	\$20,000.00	\$10.50	\$52,500.00	\$6.25	\$31,250.00	\$3.90	\$19,500.00
6450	Sheet Piling - Removing Obstructions or Const. Modifications	1	FA	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
6460	Sheet Piling - Unexpected Existing Utilities	1	FA	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00
	SCHEDULE VI SUBTOTA	.L			\$1,460,950.00		\$1,755,425.00		\$1,395,380.00		\$1,670,830.00
	9.5% WA State Sales Ta	ıx			\$138,790.25		\$166,765.38		\$132,561.10		\$158,728.85
1	TOTA	۱L			\$1,599,740.25		\$1,922,190.38		\$1,527,941.10		\$1,829,558.85

CITY OF K				1		2		3		4	
	KENT	BIDDEF	R'S	Quigg Bros., Inc	.	SCI Infrastructure, LLC		Macro-Z-Techno	logy	Scarsella Bros., Inc.	
PROJECT	NAME: Boeing Secondary Levee and Floodwall	NAME A	AND	PO Box 1707		2825 S. 154th S		841 E. Washing		PO Box 68697	
	JING: July 10, 2012	ADDRE	SS	Aberdeen, WA	98520-0281	Seattle, WA 98	188	Santa Ana, CA		Seattle, WA 981	168-0697
		TOTAL			\$2,655,566.63		\$2,819,143.21		\$2,827,340.09		\$2,854,674.86
ITEM					TOTAL		TOTAL		TOTAL	-	TOTAL
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
SCHEDUI	LE VII: EROSION AND SEDIMENT CONTROL										
7000	Seeding, Fertilizing and Mulching	1	ACRE	\$4,000.00	\$4,000.00	\$2,000.00	\$2,000.00	\$7,400.00	\$7,400.00	\$3,000.00	\$3,000.00
7005	Filter Fabric Fence	1,715	LF	\$5.00	\$8,575.00	\$4.00	\$6,860.00	\$3.75	\$6,431.25	\$3.50	\$6,002.50
7015	Inlet Protection	6	EA	\$200.00	\$1,200.00	\$65.00	\$390.00	\$120.00	\$720.00	\$100.00	\$600.00
7020	Straw Mulch	2,000	SY	\$1.00	\$2,000.00	\$2.00	\$4,000.00	\$0.50	\$1,000.00	\$1.50	\$3,000.00
7025	Clear Plastic Covering	2,000	SY	\$3.00	\$6,000.00	\$2.25	\$4,500.00	\$3.00	\$6,000.00	\$2.00	\$4,000.00
7030	ESC Lead	65	HR	\$90.00	\$5,850.00	\$50.00	\$3,250.00	\$71.00	\$4,615.00	\$75.00	\$4,875.00
7035	Street Cleaning	120	HR	\$120.00	\$14,400.00	\$165.00	\$19,800.00	\$125.00	\$15,000.00	\$120.00	\$14,400.00
7055	Temporary Water Pollution/Erosion Control	1	FA	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
7070	Straw Wattles	400	LF	\$6.00	\$2,400.00	\$4.00	\$1,600.00	\$4.25	\$1,700.00	\$5.00	\$2,000.00
7075	Rock Check Dam	100	LF	\$10.00	\$1,000.00	\$20.00	\$2,000.00	\$23.50	\$2,350.00	\$10.00	\$1,000.00
	SCHEDULE VII SUBTOTA	AL			\$65,425.00		\$64,400.00		\$65,216.25		\$58,877.50
	9.5% WA State Sales T	ax			\$6,215.38		\$6,118.00		\$6,195.54		\$5,593.36
	тот	AL			\$71,640.38		\$70,518.00		\$71,411.79		\$64,470.86
SCHEDIII	LE VIII: PARK RESTORATION										
	Tree Planting and Staking	11	EA	\$350.00	\$3,850.00	\$500.00	\$5,500.00	\$450.00	\$4,950.00	\$250.00	\$2,750.00
	Topsoil Type A	640	CY	\$40.00	\$25,600.00	\$28.50	\$18,240.00	\$48.00	\$30,720.00	\$25.00	\$16,000.00
	Bark or Wood Chip Mulch	100	CY	\$55.00	\$5,500.00	\$34.00	\$3,400.00	\$41.00	\$4,100.00	\$55.00	\$5,500.00
	Irrigation System	1	LS	\$25,000.00	\$25,000.00	\$27,700.00	\$27,700.00	\$34,000.00	\$34,000.00	\$27,000.00	\$27,000.00
	Landscape Island	1	LS	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$6,000.00	\$6,000.00	\$7,200.00	\$7,200.00
0010	SCHEDULE VIII SUBTOTA	٠.	LO	ψ12,000.00	\$71,950.00	\$12,000.00	\$66,840.00	\$0,000.00	\$79,770.00	Ψ7,200.00	\$58,450.00
	9.5% WA State Sales T				\$6,835.25		\$6,349.80		\$7,578.15		\$5,552.75
	TOT				\$78,785.25		\$73,189.80		\$87,348.15		\$64,002.75
	SUMMARY										
	Schedule I - Levee				\$864,338.25		\$717,329.03		\$1,088,243.30		\$862,166.32
	Schedule V - Traffic Control				\$41,062.50		\$35,916.00		\$52,395.75		\$34,476.08
	Schedule VI - Structural				\$1,599,740.25		\$1,922,190.38		\$1,527,941.10		\$1,829,558.85
	Schedule VII - Erosion and Sediment Control				\$71,640.38		\$70,518.00		\$71,411.79		\$64,470.86
	Schedule VIII - Park Restoration				\$78,785.25		\$73,189.80		\$87,348.15		\$64,002.75
GRAND T	TOTAL				\$2,655,566.63		\$2,819,143.21		\$2,827,340.09		\$2,854,674.86

CITY OF	KENT	BIDDER'	s	5 Pease Constructi	ion Inc.	6 IMCO General Co	onstruction	7 C. A. Carey Corp	oration	8 MidMountain Cor	tractors Inc
	T NAME: Boeing Secondary Levee and Floodwall	NAME A		3815 100th St. S		2116 Buchanan I		PO Box 1006	or a tion	PO Box 2909	mactors inc.
	ENING: July 10, 2012	ADDRES		Lakewood, WA		Ferndale, WA 98	•	Issaguah, WA 98	3027	Kirkland, WA 98	083-2909
.5 0, 6		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	-				-=			, , , , , , , , , , , , ,	, 0,
		TOTAL			\$2,951,579.63		\$3,010,711.26		\$3,246,100.13		\$3,262,005.01
TEM					TOTAL		TOTAL		TOTAL		TOTAL
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
SCHED	ULE I: LEVEE										
	Mobilization	1	LS	\$251,300.00	\$251,300.00	\$225,000.00	\$225,000.00	\$275,000.00	\$275,000.00	\$221,717.00	\$221,717.00
1005	Clearing and Grubbing	1	LS	\$10,800.00	\$10,800.00	\$40,000.00	\$40,000.00	\$50,000.00	\$50,000.00	\$12,500.00	\$12,500.00
1006	Remove Existing Irrigation	1	LS	\$918.00	\$918.00	\$25,000.00	\$25,000.00	\$11,000.00	\$11,000.00	\$8,750.00	\$8,750.00
1007	Remove Giant Sandbags	30	EA	\$48.60	\$1,458.00	\$32.00	\$960.00	\$52.00	\$1,560.00	\$65.00	\$1,950.00
1010	Remove Existing Asphalt Concrete Pavement	2,500	SY	\$7.56	\$18,900.00	\$10.00	\$25,000.00	\$8.00	\$20,000.00	\$3.90	\$9,750.00
1020	Remove and Reinstall Concrete Wheel Stops	40	EA	\$54.00	\$2,160.00	\$60.00	\$2,400.00	\$60.00	\$2,400.00	\$58.00	\$2,320.00
1025	Wheel Stop for Parking Stalls	10	EA	\$102.60	\$1,026.00	\$100.00	\$1,000.00	\$110.00	\$1,100.00	\$110.00	\$1,100.00
1030	Remove Cement Concrete Extruded Curb	470	LF	\$6.50	\$3,055.00	\$5.00	\$2,350.00	\$3.00	\$1,410.00	\$3.40	\$1,598.00
1035	Removal of Traffic Islands and/or Traffic Curb	1	LS	\$1,620.00	\$1,620.00	\$15,000.00	\$15,000.00	\$1,800.00	\$1,800.00	\$1,300.00	\$1,300.00
1040	Removal of Raised Pavement Markers and/or Thermoplastic	1	LS	\$1,998.00	\$1,998.00	\$2,200.00	\$2,200.00	\$2,200.00	\$2,200.00	\$2,150.00	\$2,150.00
1045	Removal of Traffic Signs	1	LS	\$810.00	\$810.00	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00	\$2,700.00	\$2,700.00
1050	Saw Cut Existing Asphalt Concrete Pavement	230	LF	\$5.00	\$1,150.00	\$5.00	\$1,150.00	\$4.00	\$920.00	\$3.00	\$690.00
1055	Remove and Reinstall Park Sign with New Foundation	1	LS	\$1,440.00	\$1,440.00	\$4,200.00	\$4,200.00	\$3,500.00	\$3,500.00	\$1,725.00	\$1,725.00
1060	Roadway Excavation Including Haul	800	CY	\$11.90	\$9,520.00	\$9.00	\$7,200.00	\$13.00	\$10,400.00	\$23.50	\$18,800.00
1065	Unsuitable Foundation Excavation Including Haul	600	CY	\$11.90	\$7,140.00	\$14.30	\$8,580.00	\$13.00	\$7,800.00	\$26.00	\$15,600.00
1075	Gravel Borrow, Including Haul and Compaction	14,060	TON	\$16.30	\$229,178.00	\$9.00	\$126,540.00	\$16.00	\$224,960.00	\$16.00	\$224,960.00
1076	Gravel Borrow for Levee Embankment, Including Haul	1,600	TON	\$16.80	\$26,880.00	\$8.30	\$13,280.00	\$18.00	\$28,800.00	\$16.00	\$25,600.00
1080	Crushed Surfacing, Top Course 5/8" Minus	1,015	TON	\$17.80	\$18,067.00	\$26.00	\$26,390.00	\$19.00	\$19,285.00	\$29.00	\$29,435.00
1085	Crushed Surfacing, Base Course 1-1/4" Minus	1,100	TON	\$17.80	\$19,580.00	\$18.00	\$19,800.00	\$19.00	\$20,900.00	\$24.00	\$26,400.00
1095	HMA Class 1/2", PG 64-22	900	TON	\$87.20	\$78,480.00	\$100.00	\$90,000.00	\$98.00	\$88,200.00	\$94.00	\$84,600.00
1096	Inspection Trench	220	LF	\$9.00	\$1,980.00	\$6.00	\$1,320.00	\$23.00	\$5,060.00	\$35.00	\$7,700.00
1100	Portable Toilets	1	LS	\$3,080.00	\$3,080.00	\$1,650.00	\$1,650.00	\$5,000.00	\$5,000.00	\$6,500.00	\$6,500.00
1125	Cold Plant Mix for Temporary Pavement Patch	100	TON	\$108.00	\$10,800.00	\$135.00	\$13,500.00	\$110.00	\$11,000.00	\$140.00	\$14,000.00
1210	Embedded Reinforced Cement Concrete Curb for Islands	300	LF	\$16.10	\$4,830.00	\$42.00	\$12,600.00	\$29.00	\$8,700.00	\$29.00	\$8,700.00
1215	Embedded Reinforced Cement Concrete Traffic Curb	300	LF	\$18.30	\$5,490.00	\$42.00	\$12,600.00	\$29.00	\$8,700.00	\$29.00	\$8,700.00
1216	Repair Concrete Slab	1	LS	\$1,372.00	\$1,372.00	\$3,300.00	\$3,300.00	\$2,500.00	\$2,500.00	\$7,500.00	\$7,500.00
1270	Temporary Chain Link Fencing	2,300	LF	\$1.70	\$3,910.00	\$3.00	\$6,900.00	\$2.50	\$5,750.00	\$6.00	\$13,800.00
1275	Temporary Secure Fencing	350	LF	\$3.10	\$1,085.00	\$14.00	\$4,900.00	\$36.00	\$12,600.00	\$8.00	\$2,800.00
1290	Remove and Restore Fixed or Removable Bollard	8	EA	\$550.00	\$4,400.00	\$830.00	\$6,640.00	\$400.00	\$3,200.00	\$1,000.00	\$8,000.00
1295	Handrail	260	LF	\$181.10	\$47,086.00	\$175.00	\$45,500.00	\$140.00	\$36,400.00	\$120.00	\$31,200.00
1300	PVC Conduits	1	PS	\$1,080.00	\$1,080.00	\$800.00	\$800.00	\$3,200.00	\$3,200.00	\$17,000.00	\$17,000.00
1315	Pothole Utilities	4	EA	\$324.00	\$1,296.00	\$260.00	\$1,040.00	\$650.00	\$2,600.00	\$354.00	\$1,416.00
1320	Project Sign	1	EA	\$850.00	\$850.00	\$650.00	\$650.00	\$1,000.00	\$1,000.00	\$600.00	\$600.00
1325	Quarry Spalls	1,700	TON	\$32.40	\$55,080.00	\$30.00	\$51,000.00	\$54.00	\$91,800.00	\$34.00	\$57,800.00
1330	Geotextile Fabric, Non-Woven	2,600	SY	\$1.80	\$4,680.00	\$1.50	\$3,900.00	\$3.00	\$7,800.00	\$1.10	\$2,860.00
1355	Minor Changes	1	CALC	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
	SCHEDULE I SUBTO	ΓAL			\$842,499.00		\$817,350.00		\$988,545.00		\$892,221.00
	9.5% WA State Sales	Tax			\$80,037.41		\$77,648.25		\$93,911.78		\$84,761.00

			5	6	7	8
CITY OF KENT		BIDDER'S	Pease Construction Inc.	IMCO General Construction	C. A. Carey Corporation	MidMountain Contractors Inc.
PROJECT NAME: B	loeing Secondary Levee and Floodwall	NAME AND	3815 100th St. SW, #3A	2116 Buchanan Loop	PO Box 1006	PO Box 2909
BID OPENING: Ju	ly 10, 2012	ADDRESS	Lakewood, WA 98499	Ferndale, WA 98248	Issaquah, WA 98027	Kirkland, WA 98083-2909
		TOTAL	\$2,951,579.63	\$3,010,711.26	\$3,246,100.13	\$3,262,005.01
ITEM			TOTA	L TOTAL	. TOTAL	TOTAL
NO.	DESCRIPTION	QTY UNIT	UNIT PRICE AMOUN	T UNIT PRICE AMOUNT	UNIT PRICE AMOUNT	UNIT PRICE AMOUNT
		TOTAL	\$922,536.41	\$894,998.25	\$1,082,456.78	\$976,982.00

CITY OF				5		6		7		8	
	KENT	BIDDER	'S	Pease Construct	ion Inc.	IMCO General Co	onstruction	C. A. Carey Corp	ooration	MidMountain Contractors Inc.	
PROJEC1	NAME: Boeing Secondary Levee and Floodwall	NAME A	ND	3815 100th St. 5	SW, #3A	2116 Buchanan	Loop	PO Box 1006		PO Box 2909	
BID OPE	NING: July 10, 2012	ADDRES	SS	Lakewood, WA	98499	Ferndale, WA 98	8248	Issaquah, WA 9	8027	Kirkland, WA 98083-2909	
		TOTAL			\$2,951,579.63		\$3,010,711.26		\$3,246,100.13		\$3,262,005.01
ITEM					TOTAL		TOTAL		TOTAL		TOTAL
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
SCHEDU	JLE V: TRAFFIC CONTROL										
5005	Traffic Control Labor	200	HR	\$59.40	\$11,880.00	\$46.00	\$9,200.00	\$65.00	\$13,000.00	\$54.00	\$10,800.00
5010	Construction Signs, Class A	100	SF	\$13.10	\$1,310.00	\$26.00	\$2,600.00	\$20.00	\$2,000.00	\$18.00	\$1,800.00
5015	Traffic Control Supervisor	200	HR	\$65.40	\$13,080.00	\$62.00	\$12,400.00	\$70.00	\$14,000.00	\$69.00	\$13,800.00
5020	Temporary Traffic Control Devices	1	LS	\$2,370.00	\$2,370.00	\$850.00	\$850.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
5030	Portable Changeable Message Sign (PCMS)	10	DAY	\$43.20	\$432.00	\$140.00	\$1,400.00	\$100.00	\$1,000.00	\$50.00	\$500.00
5060	Type III Barricade	6	EA	\$395.00	\$2,370.00	\$120.00	\$720.00	\$150.00	\$900.00	\$160.00	\$960.00
5100	Permanent Parking Lot Channelization	1	LS	\$5,120.00	\$5,120.00	\$5,600.00	\$5,600.00	\$5,700.00	\$5,700.00	\$5,500.00	\$5,500.00
	SCHEDULE V SUBTOTA	L			\$36,562.00		\$32,770.00		\$41,600.00		\$38,360.00
	9.5% WA State Sales Ta	X			\$3,473.39		\$3,113.15		\$3,952.00		\$3,644.20
	TOTA	L			\$40,035.39		\$35,883.15		\$45,552.00		\$42,004.20
SCHEDI	JLE VI: STRUCTURAL										
6000	Shoring or Extra Excavation, Class A	1	LS	\$8,100.00	\$8,100.00	\$30,000.00	\$30,000.00	\$2,000.00	\$2,000.00	\$8,400.00	\$8,400.00
6010	Structure Excavation Class A, Including Haul	1,200	CY	\$8,100.00	\$18,120.00	\$30,000.00	\$10,980.00	\$2,000.00	\$2,000.00	\$8,400.00	\$37,200.00
6020	Sheet Piling - Wall Type A (AZ38-700N)	4,000	SF	\$40.50	\$162,000.00	\$37.00	\$10,980.00	\$43.00	\$21,800.00	\$42.65	\$37,200.00
6120	Sheet Piling - Wall Type B (AZ38-700N) Sheet Piling - Wall Type B (AZ38-700N)	1,500	SF	\$40.30	\$60,600.00	\$37.00	\$49,500.00	\$43.00	\$64,500.00	\$42.65 \$42.65	\$63,975.00
6220	3 31 ,	17,500	SF SF	\$28.20	\$493,500.00	\$33.00	\$560,000.00	\$35.00	\$64,500.00	\$42.65 \$32.00	\$560,000.00
6140	Sheet Piling - Wall Type B (AZ24-700N)	500	SF	\$20.00	\$10,000.00	\$40.00					•
	Sheet Piling - Wall Type C (AZ12-770)	700	CY			· ·	\$20,000.00	\$30.00	\$15,000.00	\$23.25	\$11,625.00
6360	Conc. Class 4000 for Retaining Wall and Floodwall		SF	\$616.60	\$431,620.00	\$850.00	\$595,000.00	\$835.00	\$584,500.00	\$730.00	\$511,000.00 \$364,200.00
6361	Architectural Finish for Retaining Wall and Floodwall	12,000 50,000	SF LB	\$27.90 \$1.30	\$334,800.00 \$65,000.00	\$14.00 \$1.40	\$168,000.00	\$15.00 \$1.00	\$180,000.00 \$50,000.00	\$30.35 \$1.45	\$72,500.00
6380 6395	Structural Reinforcement Bar for Retaing Wall and Floodwall Concrete Mow Strip	530	LF	\$5.60	\$2,968.00	\$36.00	\$70,000.00 \$19,080.00	\$1.00	\$6,360.00	\$27.00	\$14,310.00
6400	Scour Protection Slab	5,000	SF	\$6.70	\$33,500.00	\$6.00	\$30,000.00	\$5.00	\$25,000.00	\$8.15	\$40,750.00
6450	Sheet Piling - Removing Obstructions or Const. Modifications	5,000	FA	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
6460		1	FA	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00
0400	Sheet Piling - Unexpected Existing Utilities SCHEDULE VI SUBTOTA	•	ГA	\$12,000.00	\$1,682,208.00	\$12,000.00	\$1,762,560.00	\$12,000.00	\$12,000.00 \$1,795,460.00	\$12,000.00	\$1,916,560.00
	9.5% WA State Sales Ta				\$1,882,208.00		\$1,782,380.00		\$1,793,480.00		\$1,918,380.00
	9.5% WA State Sales 1a				\$1,842,017.76		\$1,930,003.20		\$1,966,028.70		\$2,098,633.20
	TOTA	_			Ψ1,042,017.70		ψ1,730,003.20		φ1,900,020.70		Ψ2,070,033.20
I				I		I		I		I	

				5		6		7		8	
CITY OF	KENT	BIDDEF	R'S	Pease Construct	ion Inc.	IMCO General Construction		C. A. Carey Corp	ooration	MidMountain Cor	ntractors Inc.
PROJEC	T NAME: Boeing Secondary Levee and Floodwall	NAME A	AND	3815 100th St. 5		2116 Buchanan		PO Box 1006		PO Box 2909	
BID OPE	ENING: July 10, 2012	ADDRE	SS	Lakewood, WA	98499	Ferndale, WA 98	8248	Issaquah, WA 9	8027	Kirkland, WA 98	3083-2909
		TOTAL			\$2,951,579.63		\$3,010,711.26		\$3,246,100.13		\$3,262,005.01
ITEM					TOTAL		TOTAL		TOTAL		TOTAL
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
SCHED	ULE VII: EROSION AND SEDIMENT CONTROL										
7000	Seeding, Fertilizing and Mulching	1	ACRE	\$4,536.00	\$4,536.00	\$5,000.00	\$5,000.00	\$3,000.00	\$3,000.00	\$2,900.00	\$2,900.00
7005	Filter Fabric Fence	1,715	LF	\$4.30	\$7,374.50	\$5.00	\$8,575.00	\$5.00	\$8,575.00	\$4.60	\$7,889.00
7015	Inlet Protection	6	EA	\$71.00	\$426.00	\$73.00	\$438.00	\$90.00	\$540.00	\$70.00	\$420.00
7020	Straw Mulch	2,000	SY	\$0.40	\$800.00	\$0.80	\$1,600.00	\$0.60	\$1,200.00	\$1.60	\$3,200.00
7025	Clear Plastic Covering	2,000	SY	\$2.50	\$5,000.00	\$2.40	\$4,800.00	\$2.00	\$4,000.00	\$2.50	\$5,000.00
7030	ESC Lead	65	HR	\$54.00	\$3,510.00	\$55.00	\$3,575.00	\$75.00	\$4,875.00	\$115.00	\$7,475.00
7035	Street Cleaning	120	HR	\$156.60	\$18,792.00	\$70.00	\$8,400.00	\$145.00	\$17,400.00	\$125.00	\$15,000.00
7055	Temporary Water Pollution/Erosion Control	1	FA	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
7070	Straw Wattles	400	LF	\$4.60	\$1,840.00	\$5.00	\$2,000.00	\$5.00	\$2,000.00	\$4.70	\$1,880.00
7075	Rock Check Dam	100	LF	\$21.60	\$2,160.00	\$9.00	\$900.00	\$20.00	\$2,000.00	\$14.50	\$1,450.00
	SCHEDULE VII SUBTOTA	۱L			\$64,438.50		\$55,288.00		\$63,590.00		\$65,214.00
	9.5% WA State Sales T	ЭX			\$6,121.66		\$5,252.36		\$6,041.05		\$6,195.33
	тоти	NL			\$70,560.16		\$60,540.36		\$69,631.05		\$71,409.33
SCHED	ULE VIII: PARK RESTORATION										
8000	Tree Planting and Staking	11	EA	\$351.00	\$3,861.00	\$140.00	\$1,540.00	\$380.00	\$4,180.00	\$575.00	\$6,325.00
8005	Topsoil Type A	640	CY	\$36.30	\$23,232.00	\$50.00	\$32,000.00	\$40.00	\$25,600.00	\$48.00	\$30,720.00
8015	Bark or Wood Chip Mulch	100	CY	\$58.40	\$5,840.00	\$60.00	\$6,000.00	\$60.00	\$6,000.00	\$41.00	\$4,100.00
8030	Irrigation System	1	LS	\$29,106.00	\$29,106.00	\$32,000.00	\$32,000.00	\$35,000.00	\$35,000.00	\$11,500.00	\$11,500.00
8040	Landscape Island	1	LS	\$7,760.00	\$7,760.00	\$10,000.00	\$10,000.00	\$4,500.00	\$4,500.00	\$14,000.00	\$14,000.00
	SCHEDULE VIII SUBTOTA	۱L			\$69,799.00		\$81,540.00		\$75,280.00		\$66,645.00
	9.5% WA State Sales T	ЭX			\$6,630.91		\$7,746.30		\$7,151.60		\$6,331.28
	тот	NL			\$76,429.91		\$89,286.30		\$82,431.60		\$72,976.28
	SUMMARY										
	Schedule I - Levee				\$922,536.41		\$894,998.25		\$1,082,456.78		\$976,982.00
	Schedule V - Traffic Control				\$40,035.39		\$35,883.15		\$45,552.00		\$42,004.20
	Schedule VI - Structural				\$1,842,017.76		\$1,930,003.20		\$1,966,028.70		\$2,098,633.20
	Schedule VII - Erosion and Sediment Control				\$70,560.16		\$60,540.36		\$69,631.05		\$71,409.33
	Schedule VIII - Park Restoration				\$76,429.91		\$89,286.30		\$82,431.60		\$72,976.28
GRAND	TOTAL				\$2,951,579.63		\$3,010,711.26		\$3,246,100.13		\$3,262,005.01

				9		10			
CITY OF		BIDDER		Rodarte Construc		Frank Coluccio Co		ENGINEER'S EST	IMATE
	NAME: Boeing Secondary Levee and Floodwall	NAME A		17 E. Valley High	•	9600 MLK Jr. Wa	•	Toby Hallock	
BID OPE	NING: July 10, 2012	ADDRES	SS	Auburn, WA 980	92	Seattle, WA 981	18		
		TOTAL			\$3,306,297.75		\$3,331,603.20		\$2,763,581.81
ITEM					TOTAL		TOTAL		TOTAL
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
SCHEDI	ILE I: LEVEE								
	Mobilization	1	LS	\$408,000.00	\$408,000.00	\$90,000.00	\$90,000.00	\$100,000.00	\$100,000.00
1005	Clearing and Grubbing	1	LS	\$15,000.00	\$15,000.00	\$45,000.00	\$45,000.00	\$10,000.00	\$10,000.00
1006	Remove Existing Irrigation	1	LS	\$1,500.00	\$1,500.00	\$8,000.00	\$8,000.00	\$2,000.00	\$2,000.00
1007	Remove Giant Sandbags	30	EA	\$55.00	\$1,650.00	\$200.00	\$6,000.00	\$25.00	\$750.00
1010	Remove Existing Asphalt Concrete Pavement	2,500	SY	\$4.75	\$11,875.00	\$5.00	\$12,500.00	\$10.00	\$25,000.00
1020	Remove and Reinstall Concrete Wheel Stops	40	EA	\$55.00	\$2,200.00	\$120.00	\$4,800.00	\$50.00	\$2,000.00
1025	Wheel Stop for Parking Stalls	10	EA	\$100.00	\$1,000.00	\$150.00	\$1,500.00	\$100.00	\$1,000.00
1030	Remove Cement Concrete Extruded Curb	470	LF	\$5.50	\$2,585.00	\$8.00	\$3,760.00	\$4.00	\$1,880.00
1035	Removal of Traffic Islands and/or Traffic Curb	1	LS	\$2,250.00	\$2,250.00	\$12,000.00	\$12,000.00	\$5,000.00	\$5,000.00
1040	Removal of Raised Pavement Markers and/or Thermoplastic	1	LS	\$2,000.00	\$2,000.00	\$2,100.00	\$2,100.00	\$1,500.00	\$1,500.00
1045	Removal of Traffic Signs	1	LS	\$900.00	\$900.00	\$1,200.00	\$1,200.00	\$1,000.00	\$1,000.00
1050	Saw Cut Existing Asphalt Concrete Pavement	230	LF	\$3.00	\$690.00	\$5.00	\$1,150.00	\$4.00	\$920.00
1055	Remove and Reinstall Park Sign with New Foundation	1	LS	\$4,750.00	\$4,750.00	\$3,000.00	\$3,000.00	\$500.00	\$500.00
1060	Roadway Excavation Including Haul	800	CY	\$21.00	\$16,800.00	\$40.00	\$32,000.00	\$25.00	\$20,000.00
1065	Unsuitable Foundation Excavation Including Haul	600	CY	\$21.00	\$12,600.00	\$40.00	\$24,000.00	\$18.00	\$10,800.00
1075	Gravel Borrow, Including Haul and Compaction	14,060		\$15.00	\$210,900.00	\$20.00	\$281,200.00	\$10.00	\$140,600.00
1076	Gravel Borrow for Levee Embankment, Including Haul	1,600	TON	\$15.00	\$24,000.00	\$22.00	\$35,200.00	\$20.00	\$32,000.00
1080	Crushed Surfacing, Top Course 5/8" Minus	1,015	TON	\$22.00	\$22,330.00	\$20.00	\$20,300.00	\$20.00	\$20,300.00
1085	Crushed Surfacing, Base Course 1-1/4" Minus	1,100	TON	\$22.00	\$24,200.00	\$22.00	\$24,200.00	\$22.00	\$24,200.00
1095	HMA Class 1/2", PG 64-22	900	TON	\$85.00	\$76,500.00	\$115.00	\$103,500.00	\$95.00	\$85,500.00
1096	Inspection Trench	220	LF	\$15.00	\$3,300.00	\$30.00	\$6,600.00	\$8.00	\$1,760.00
1100	Portable Toilets	1	LS	\$2,000.00	\$2,000.00	\$8,000.00	\$8,000.00	\$1,200.00	\$1,200.00
1125	Cold Plant Mix for Temporary Pavement Patch	100	TON	\$95.00	\$9,500.00	\$120.00	\$12,000.00	\$100.00	\$10,000.00
1210	Embedded Reinforced Cement Concrete Curb for Islands	300	LF	\$30.00	\$9,000.00	\$50.00	\$15,000.00	\$25.00	\$7,500.00
1215	Embedded Reinforced Cement Concrete Traffic Curb	300	LF	\$40.00	\$12,000.00	\$50.00	\$15,000.00	\$25.00	\$7,500.00
1216	Repair Concrete Slab	1	LS	\$3,500.00	\$3,500.00	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00
1270	Temporary Chain Link Fencing	2,300	LF	\$2.00	\$4,600.00	\$10.00	\$23,000.00	\$7.00	\$16,100.00
1275	Temporary Secure Fencing	350	LF	\$15.00	\$5,250.00	\$30.00	\$10,500.00	\$30.00	\$10,500.00
1290	Remove and Restore Fixed or Removable Bollard	8	EA	\$425.00	\$3,400.00	\$600.00	\$4,800.00	\$700.00	\$5,600.00
	Handrail	260	LF	\$130.00	\$33,800.00	\$100.00	\$26,000.00	\$100.00	\$26,000.00
	PVC Conduits	1	PS	\$1,800.00	\$1,800.00	\$16,000.00	\$16,000.00	\$2,000.00	\$2,000.00
1315	Pothole Utilities	4	EA	\$400.00	\$1,600.00	\$1,500.00	\$6,000.00	\$600.00	\$2,400.00
1320	Project Sign	1	EA	\$500.00	\$500.00	\$3,000.00	\$3,000.00	\$600.00	\$600.00
1325	Quarry Spalls	1,700	TON	\$27.50	\$46,750.00	\$25.00	\$42,500.00	\$40.00	\$68,000.00
1330	Geotextile Fabric, Non-Woven	2,600	SY	\$2.50	\$6,500.00	\$5.00	\$13,000.00	\$4.00	\$10,400.00
	Minor Changes	1	CALC	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
	SCHEDULE I SUBTOTAL	•	5	112,300.00	\$995,230.00	1 1 2 , 3 3 3 . 3 3	\$927,810.00	+ 12,300.00	\$666,510.00
	9.5% WA State Sales Tax			1	\$94,546.85	1	\$88,141.95	ſ	\$63,318.45

	T ME: Boeing Secondary Levee and Floodwall G: July 10, 2012	BIDDER'S NAME AND ADDRESS	9 Rodarte Construct 17 E. Valley Highv Auburn, WA 9809	way East	10 Frank Coluccio Constr. Co. 9600 MLK Jr. Way S. Seattle, WA 98118		ENGINEER'S ESTIMATE Toby Hallock		
		TOTAL		\$3,306,297.75	\$3,331,	603.20		\$2,763,581.81	
ITEM				TOTAL		TOTAL		TOTAL	
NO.	DESCRIPTION	QTY UNI	UNIT PRICE	AMOUNT	UNIT PRICE A	MOUNT	UNIT PRICE	AMOUNT	
		TOTAL		\$1,089,776.85	\$1,015,9	51.95		\$729,828.45	

				9		10			
CITY OF	KENT	BIDDER	'S	Rodarte Constru	ction, Inc.	Frank Coluccio C	Constr. Co.	ENGINEER'S ES	TIMATE
PROJEC	T NAME: Boeing Secondary Levee and Floodwall	NAME A	ND	17 E. Valley Hig	nway East	9600 MLK Jr. Wa	ay S.	Toby Hallock	
BID OPE	NING: July 10, 2012	ADDRES	S	Auburn, WA 98	092	Seattle, WA 98	118		
		TOTAL			\$3,306,297.75		\$3,331,603.20		\$2,763,581.81
ITEM					TOTAL		TOTAL		TOTA
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUN
SCHED	JLE V: TRAFFIC CONTROL								
5005	Traffic Control Labor	200	HR	\$45.00	\$9,000.00	\$45.00	\$9,000.00	\$45.00	\$9,000.00
5010	Construction Signs, Class A	100	SF	\$12.00	\$1,200.00	\$25.00	\$2,500.00	\$15.00	\$1,500.00
5015	Traffic Control Supervisor	200	HR	\$45.00	\$9,000.00	\$65.00	\$13,000.00	\$50.00	\$10,000.00
5020	Temporary Traffic Control Devices	1	LS	\$500.00	\$500.00	\$10,000.00	\$10,000.00	\$3,000.00	\$3,000.00
5030	Portable Changeable Message Sign (PCMS)	10	DAY	\$600.00	\$6,000.00	\$300.00	\$3,000.00	\$85.00	\$850.00
5060	Type III Barricade	6	EA	\$400.00	\$2,400.00	\$700.00	\$4,200.00	\$150.00	\$900.00
5100	Permanent Parking Lot Channelization	1	LS	\$5,000.00	\$5,000.00	\$7,000.00	\$7,000.00	\$5,000.00	\$5,000.00
	SCHEDULE V SUBTOTA	AL			\$33,100.00		\$48,700.00		\$30,250.00
	9.5% WA State Sales Ta	ЭX			\$3,144.50		\$4,626.50		\$2,873.75
	тота	AL			\$36,244.50		\$53,326.50		\$33,123.75
SCHED	JLE VI: STRUCTURAL								
6000	Shoring or Extra Excavation, Class A	1	LS	\$38,000.00	\$38,000.00	\$7,000.00	\$7,000.00	\$38,309.00	\$38,309.00
6010	Structure Excavation Class A, Including Haul	1,200	CY	\$25.00	\$30,000.00	\$35.00	\$42,000.00	\$21.00	\$25,200.00
6020	Sheet Piling - Wall Type A (AZ38-700N)	4,000	SF	\$40.00	\$160,000.00	\$35.00	\$140,000.00	\$49.00	\$196,000.00
6120	Sheet Piling - Wall Type B (AZ38-700N)	1,500	SF	\$40.00	\$60,000.00	\$40.00	\$60,000.00	\$50.00	\$75,000.00
6220	Sheet Piling - Wall Type B (AZ24-700N)	17,500	SF	\$30.00	\$525,000.00	\$38.00	\$665,000.00	\$40.00	\$700,000.00
6140	Sheet Piling - Wall Type C (AZ12-770)	500	SF	\$23.00	\$11,500.00	\$33.00	\$16,500.00	\$30.00	\$15,000.00
6360	Conc. Class 4000 for Retaining Wall and Floodwall	700	CY	\$900.00	\$630,000.00	\$660.00	\$462,000.00	\$500.00	\$350,000.00
6361	Architectural Finish for Retaining Wall and Floodwall	12,000	SF	\$24.00	\$288,000.00	\$30.00	\$360,000.00	\$8.00	\$96,000.00
6380	Structural Reinforcement Bar for Retaing Wall and Floodwall	50,000	LB	\$0.75	\$37,500.00	\$1.20	\$60,000.00	\$1.15	\$57,500.00
6395	Concrete Mow Strip	530	LF	\$13.00	\$6,890.00	\$30.00	\$15,900.00	\$25.00	\$13,250.00
6400	Scour Protection Slab	5,000	SF	\$4.50	\$22,500.00	\$7.00	\$35,000.00	\$2.56	\$12,800.00
6450	Sheet Piling - Removing Obstructions or Const. Modifications	1	FA	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
6460	Sheet Piling - Unexpected Existing Utilities	1	FA	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00
	SCHEDULE VI SUBTOTA	AL			\$1,871,390.00		\$1,925,400.00		\$1,641,059.00
	9.5% WA State Sales Ta	ах			\$177,782.05		\$182,913.00		\$155,900.61
	TOTA	AL			\$2,049,172.05		\$2,108,313.00		\$1,796,959.61

				9		10				
CITY OF	KENT	BIDDER	'S	Rodarte Constru	ction, Inc.	Frank Coluccio C	onstr. Co.	ENGINEER'S ESTIMATE		
PROJEC [*]	T NAME: Boeing Secondary Levee and Floodwall	NAME A	ND	17 E. Valley Higl	nway East	9600 MLK Jr. Wa	ıy S.	Toby Hallock		
BID OPE	NING: July 10, 2012	ADDRES	SS	Auburn, WA 980	092	Seattle, WA 981	18			
		TOTAL			\$3,306,297.75		\$3,331,603.20		\$2,763,581.81	
ITEM					TOTAL		TOTAL		TOTAL	
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
SCHED	JLE VII: EROSION AND SEDIMENT CONTROL									
7000	Seeding, Fertilizing and Mulching	1	ACRE	\$1,600.00	\$1,600.00	\$3,100.00	\$3,100.00	\$3,000.00	\$3,000.00	
7005	Filter Fabric Fence	1,715	LF	\$4.00	\$6,860.00	\$10.00	\$17,150.00	\$5.00	\$8,575.00	
7015	Inlet Protection	6	EA	\$50.00	\$300.00	\$100.00	\$600.00	\$75.00	\$450.00	
7020	Straw Mulch	2,000	SY	\$0.25	\$500.00	\$0.50	\$1,000.00	\$3.00	\$6,000.00	
7025	Clear Plastic Covering	2,000	SY	\$2.25	\$4,500.00	\$2.50	\$5,000.00	\$2.00	\$4,000.00	
7030	ESC Lead	65	HR	\$70.00	\$4,550.00	\$80.00	\$5,200.00	\$55.00	\$3,575.00	
7035	Street Cleaning	120	HR	\$150.00	\$18,000.00	\$125.00	\$15,000.00	\$100.00	\$12,000.00	
7055	Temporary Water Pollution/Erosion Control	1	FA	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	
7070	Straw Wattles	400	LF	\$3.75	\$1,500.00	\$10.00	\$4,000.00	\$5.00	\$2,000.00	
7075	Rock Check Dam	100	LF	\$20.00	\$2,000.00	\$25.00	\$2,500.00	\$50.00	\$5,000.00	
	SCHEDULE VII SUBTOTAL				\$59,810.00		\$73,550.00		\$64,600.00	
	9.5% WA State Sales Tax				\$5,681.95		\$6,987.25		\$6,137.00	
	TOTAL				\$65,491.95		\$80,537.25		\$70,737.00	
SCHED	JLE VIII: PARK RESTORATION									
8000	Tree Planting and Staking	11	EA	\$300.00	\$3,300.00	\$800.00	\$8,800.00	\$1,000.00	\$11,000.00	
8005	Topsoil Type A	640	CY	\$33.00	\$21,120.00	\$45.00	\$28,800.00	\$35.00	\$22,400.00	
8015	Bark or Wood Chip Mulch	100	CY	\$40.00	\$4,000.00	\$45.00	\$4,500.00	\$40.00	\$4,000.00	
8030	Irrigation System	1	LS	\$26,000.00	\$26,000.00	\$20,000.00	\$20,000.00	\$76,000.00	\$76,000.00	
8040	Landscape Island	1	LS	\$5,500.00	\$5,500.00	\$5,000.00	\$5,000.00	\$8,000.00	\$8,000.00	
	SCHEDULE VIII SUBTOTAL				\$59,920.00		\$67,100.00		\$121,400.00	
	9.5% WA State Sales Tax				\$5,692.40		\$6,374.50		\$11,533.00	
	TOTAL				\$65,612.40		\$73,474.50		\$132,933.00	
	SUMMARY									
	Schedule I - Levee				\$1,089,776.85		\$1,015,951.95		\$729,828.45	
	Schedule V - Traffic Control				\$36,244.50		\$53,326.50		\$33,123.75	
	Schedule VI - Structural				\$2,049,172.05		\$2,108,313.00		\$1,796,959.61	
	Schedule VII - Erosion and Sediment Control				\$65,491.95		\$80,537.25		\$70,737.00	
	Schedule VIII - Park Restoration				\$65,612.40		\$73,474.50		\$132,933.00	
GRAND	TOTAL				\$3,306,297.75		\$3,331,603.20		\$2,763,581.81	